
EXERCISE # 1
 
Q.1 100°, 98°, 92° 

 
Q.2  110°, 50° 

40° 
 
Q.3  ABCD A, B, C  D 

1 : 2 : 4 : 5 

 
Q.4  ABCD  CO  DO 

C  D 
COD = 2

1 (A + B). 
 
Q.5  ABCD  PQRC Q , 

AC 
(i) DP = PC     (ii) PR = 2

1 AC. 
 
Q.6  BM  CN A 

ABC L, BC 
LM = LN.   

 
Q.7 ABCD 10 cm 

AD = 52 cm, 

10cm
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Q.8 ABCD 

AB || DC 
 arc (AOD) = arc (BOC) 

B A

O

C D  
Q.9 

= 2
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 D C 

A B 
 
Q.11 ABCD ABC = 58º 

ACD 
 
Q.12 PQRS 

PL  RM P R 
PMRL 

P Q

S L 

M

R 

 
Q.13 

60º 
 
Q.14 PQ  RS 

M PQ  RS 
Q  S  P 

QM R SM 
N 



MN  PQ 
 
Q.15 ABC  P, Q  R BC, CA 

AB AC = 21 cm, 
BC = 29 cm  AB = 30 cm 
ARPQ 


Q.16 

.........
 
Q.17 

...........
 
Q.18 

............
 /
   Q.19 

 
Q.20 

 
Q.21 

 
Q.22 

 
Q.23 

 
Q.24 

 
Q.25 ABCD  AB = 10 cm 

AD = 6 cm A  DC  E 
AE  BC F

CF 
 
Q.26 ABC, C M 

AB BC 
AC  D 
 B

M

C D A  
(i) D, AC 
(ii) MD  AC 
(iii) CM = MA = 2

1 AB
 
Q.27 E, F ABCD 

(i) EF || AB  (ii) EF = 2
1 (AB + CD)

A B
E F 

P D C  
 
Q.28 ABCD P, AD 

AP = 3
1 AD  Q, BC

CQ = 3
1 BC

AQCP 



ANSWER KEY
 
 1. 70° 2. 160° 3. 30°, 60°, 120°,150° 7. 40 cm2. 14. 51cm
16. 17. 18. 19. 20. 
21. 22. 23. 25. 4 cm. 



EXERCISE # 2
 
Q.1 
 
Q.2 
 
Q.3 16 cm 

12 cm 
 
Q.4 5 

8 
 
Q.5 

 
Q.6 

 
Q.7 
 
Q.8 80°, 95°  120° 
 

Q.9 ABCD E  F BC 
AD G, EF 

 GAB = 4
1 (ABCD)

 

Q.10 
1 : 3 

 
Q.11 PQRS 

PSR = 130º RQT 

130º
S R 

TQP  

 

Q.12 100º, 75º 
105º 

 
Q.13 ABCD 

A = 80º CDB 

C 

A B80º

D  
 
Q.14 12 cm 16 cm 
 
Q.15 PQRS 

RPQ = 30º (x + y) 
 S 

yº
O

30º xº

R 

P Q 
 
Q.16 8 cm 
 
Q.17 ABCD 

OAB = 35º x 

A 

D C
O 

B35º x 
 
Q.18 ABCD x 

D

A B
O 

C x 2x 



 Edubull

ANSWER KEY
1. 2. 3. 10 cm 4. 6 m 5. 90º
6. 7. 8. 65º 10. 45º
11. 50º 12. 80º 13. 50º 14. 10 cm 15. 180º
16. 32 cm2 17. 55º




